12”0341 (K12n0341)

AT Linearized knot diagam

M_/ 6,11 >37>8—>12—>2-—>1-—>5—>4—>10—> 9 —>> C3,C8,C12
A knot diagrarrﬂ ¢ ¢ ¢ C2 €& G G Clo C9

Ideals for irreducible component#ﬂ)f Xpar

I}t = (7214350820u*! + 142618405361 + - - - + 24614921861b + 13897246666,
— 286630329392u*! 4 403439047669u" + - - - + 147689531166a — 913761324969,

u'? —2uM . 4 3u—3)
Iy = (b—1, a® + 2au + 3u® — 2a — 6u + 3, u® —u? + 1)
=0+, a+u+1, v’ +u?—1)

* 3 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
It = (7.21 X 10%u*t +1.43 X 101940 +. . - 4 2.46 X 10'°b41.39 x 10'°, —2.87 X
101 u?t44.03x 101 4404 . . 4+1.48 10 a—9.14 X 10", w2 —2u*'+...4+3u—3)

(i) Arc colorings

w0

ajl = ( )

1.94076u*' — 2.73167u0 + - . — 1.14974u + 6.18704
a3 = \ —0.293089u*! — 0.579398u*" + - .. + 3.28574u — 0.564586
o= ()

—1.42423u*! 4 1.18705u*® + - - - 4 4.86301wu + 0.704689
ag = \ —1.16806u*! + 1.78911u* + - - - — 1.38926u — 3.49408

. (e

1.64767u* — 3.31107u*® + - - - + 2.13601u + 5.62246

az = |\ —0.293089u*! — 0.579398u%° + - - - + 3.28574u — 0.564586
—u —Uu
ay = —uT 4+ ud -2 +u
—1.90746u*" 4+ 4.07002u%0 + - - - — 4.13107u — 3.28175

as =\ 0.164081u*t + 0.812895u%0 + ... — 2.16751u + 0.836225

1.43869u*t — 0.929160u%0 + - - - — 3.24612u + 9.35450
ag = \ —0.222585u*! + 0.354594u%0 + - .. + 1.79645u + 0.987097
ajp = (u5—u +u>

ub +u
ag = \y® —ud+u

(ii) Obstruction class = —1

(iii) Cusp Shapes
_ 4722078237541 _ 499793100 ,40 | . 4 450722117512, 698025687495
= T 24614921861 24614921861 24614921861 24614921861




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 u*? 4500t + - —190u + 1
Ca,Cs WP+ 1201
C3,C4,C8 w2+ ut + o+ 16u+8
Cg, C11 u oM+ +3u—3
¢t u? -t o 4 64u+ 8
Co u*? 4+ 2ut - 15u -3
€10, C12 u*? +16utt + -+ 14Tu+9




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y*? —106y* 4 -+ 9510y + 1
c2,Cs y*2 — 50yt + - 4+ 190y + 1
C3,C4,Cg y42-i-35y41 +---+ 128y + 64
C6, C11 y*? —16y*t + - — 14Ty + 9
€7 y*? —49y* + ... 4 1536y + 64
oy yA2 48y . — 3y 49
c10, C12 y*? 4+ 24y* + .. — 2367y + 81




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.493349 + 0.8732871
a= 0.358491 — 0.0008091
b= 1.62688 +0.121351

—7.72387 — 2.082431

—13.63208 4 0.61844T1

u = —0.493349 — 0.8732871
0.358491 + 0.0008091
b= 1.62688 —0.12135]

—7.72387 4 2.082431

—13.63208 — 0.618441

u = —0.857671 + 0.5477341
a= 2.39738 4+ 0.56265]
b= 1.297890 + 0.0938081

3.74220 + 2.196581

—11.88073 — 3.029701

uw = —0.857671 — 0.5477341
= 2.39738 — 0.562651
1.297890 — 0.0938081

3.74220 — 2.196581

—11.88073 4+ 3.029701

—1.042580 + 0.0046341
1.183060 + 0.4518771
= 0.711272 + 0.6774001

—1.44341 — 2.302701

—14.7058 4 3.72321

—1.042580 — 0.0046341
= 1.183060 — 0.4518771
= 0.711272 — 0.6774001

—1.44341 4 2.302701

—14.7058 — 3.72321

= 0.586636 + 0.7369891
—0.267637 4 0.7083231
0.487231 — 0.7861411

3.87323 + 3.153881

—7.00575 — 3.013031

0.586636 — 0.7369891
—0.267637 — 0.7083231
0.487231 + 0.7861411

3.87323 — 3.153881

—7.00575 4 3.013031

0.587628 + 0.8878351
—0.300671 — 0.3059131
= —1.57989 4 0.278961

—3.00105 + 7.124241

—10.18276 — 2.975061

= 0.587628 — 0.887835]
= —0.300671 + 0.3059131
= —1.57989 — 0.278961

—3.00105 — 7.1242471

—10.18276 4 2.975061




Solutions to I7*

V=1(vol + y=1C)

Cusp shape

= 0.893636 + 0.2360791
—1.66259 + 0.503101
—1.141660 + 0.2753871

—3.22132 — 0.727091

—17.2502 + 5.75681

0.893636 — 0.2360791
= —1.66259 — 0.503107
—1.141660 — 0.2753871

—3.22132 4 0.727091

—17.2502 — 5.75681

0.364728 + 0.8320701
= —0.385710 + 0.359680.1
—1.59824 — 0.079811

—4.34661 — 3.122241

—10.84272 4 2.926751

0.364728 — 0.8320701
= —0.385710 — 0.3596801
—1.59824 + 0.079811

—4.34661 4+ 3.122241

—10.84272 — 2.926751

0.878925 + 0.6945571
0.310415 — 0.4095831
0.590948 — 0.1087911

2.08568 — 2.675351

—4.92251 + 2.209371

0.878925 — 0.6945571
0.310415 + 0.4095831
0.590948 + 0.1087911

2.08568 + 2.675351

—4.92251 — 2.209371

0.949655 + 0.5948671
—0.255068 — 0.3529871
0.662783 — 0.6350451

2.08502 — 3.1102471

—10.10897 +- 3.323371

0.949655 — 0.5948671
—0.255068 + 0.3529871
0.662783 + 0.6350451

2.08502 4 3.110241

—10.10897 — 3.323371

—0.967079 + 0.5706371
—1.10245 — 1.084221
—0.758887 4 0.6659191

—1.15338 +4- 4.420531

—14.9758 — 5.65211

—0.967079 — 0.5706371
—1.10245 + 1.084221
—0.758887 — 0.6659191

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

—1.15338 — 4.420531

—14.9758 4 5.65211




Solutions to I}

V=1(vol + v=1C)

Cusp shape

0.739578 + 0.4506801
0.34684 — 1.843761
0.854538 + 0.4121621

2.96029 — 1.364791

—9.90879 + 4.478861

0.739578 — 0.4506801
= 0.34684 4 1.843761
= 0.854538 — 0.4121621

U
a
b=
U
a
b

2.96029 + 1.364791

—9.90879 — 4.478861

u = —0.870477 4 0.7493621
a = —0.989419 + 0.1257411
b= 0.0326402 — 0.07008101

7.96823 + 2.838091

—2.44683 — 2.999501

u = —0.870477 — 0.7493621
a = —0.989419 — 0.1257411
b= 0.0326402 4+ 0.07008101

7.96823 — 2.838091

—2.44683 + 2.999501

—0.667718 4- 0.5094311
0.526984 + 0.2989251
—0.455324 — 0.5275911

—0.215927 4 0.0577391

—12.86905 + 0.997241

—0.667718 — 0.5094311
= 0.526984 — 0.2989251
—0.455324 4 0.5275911

—0.215927 — 0.0577391

—12.86905 — 0.997241

—2.72686 — 0.359981
—1.68766 + 0.192801

—9.82219 + 5.698891

—16.0238 — 3.45411

—1.192640 — 0.0844121
—2.72686 + 0.359981
—1.68766 — 0.192801

]
a
b
]
a
b
u = —1.192640 + 0.0844121
a
b
U
a
b

—9.82219 — 5.698891

—16.0238 + 3.45411

1.20918
a= 273290
b= 173917

u =

—13.9658

—18.7010

u = —0.893982 + 0.8236041
a= 0.017481 — 0.8369221
b= —1.322530 + 0.0049181

3.39487 + 3.06804.1

—10.44365 — 2.873541




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —0.893982 — 0.8236041
0.017481 + 0.8369221
—1.322530 — 0.0049181

3.39487 — 3.068041

—10.44365 4 2.873541

1.029980 + 0.6514411
1.19267 — 0.825221
0.548001 + 0.8884711

2.56002 — 8.466861

—9.68679 + 7.748801

1.029980 — 0.65144171
1.19267 + 0.825221
0.548001 — 0.8884711

2.56002 + 8.46686.1

—9.68679 — 7.748801

1.106730 + 0.5897921
—1.63532 + 1.441311
—1.67176 — 0.003211

—6.57334 — 2.086581

—13.90990 + 1.570561

1.106730 — 0.5897921
—1.63532 — 1.441311
= —1.67176 + 0.003211

—6.57334 4 2.086581

—13.90990 — 1.570561

—1.107090 + 0.6626341
1.51861 + 1.674961
1.68068 — 0.193051

—9.58882 + 7.766031

—15.5418 — 5.05611

—1.107090 — 0.6626341
1.51861 — 1.674961
1.68068 + 0.193051

—9.58882 — 7.766031

—15.5418 4 5.05611

1.084910 + 0.7100101
—1.42076 + 1.881961
—1.60580 — 0.328831

—4.52539 — 13.044201

—12.00000 + 7.215921

1.084910 — 0.7100101
—1.42076 — 1.881961
—1.60580 + 0.328831

—4.52539 + 13.044201

—12.00000 — 7.215921

0.451064 + 0.4810381
—0.346528 — 1.2343601
0.610635 + 0.4625641

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

3.08466 — 1.371371

—7.10497 + 4.422671




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.451064 — 0.4810381
a = —0.346528 4 1.2343601
b= 10.610635 — 0.4625641

3.08466 + 1.371371

—7.10497 — 4.422671

u = —0.370951
a= 0.749235
b= —0.302638

—0.594790

—16.5260




II. 1Y = (b—1, a® + 2au+ 3u®? —2a — 6u+ 3, u® —u?+1)

(i) Arc colorings

wa+a—1
wa—au—ut—a+1

u?—1
—u?

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u — 12

10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs (u — 1)6
e (u+1)°
03,04,67 (u2 +2)3
cs
6 (u® —u? +1)?
€9, C10 (u? —u® + 2u— 1)
Cc11 (u3 + u? — 1)2
C12 (u® +u? +2u +1)2

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)6
03,04,67 (y+2)6
Cs
C6, C11 (v* —y* +2y—1)°
Cg, €10, C12 (y® + 3y% + 2y — 1)?

12



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

uw=0.877439 + 0.7448621

a= 1.175960 — 0.5715341 6.31400 — 2.828121 | —8.49024 + 2.979451
b= 1.00000

uw=0.877439 + 0.7448621
a = —0.930832 — 0.9181891 6.31400 — 2.828121 | —8.49024 + 2.979451
1.00000

= 0.877439 — 0.7448621

1.175960 + 0.5715341 6.31400 4 2.828127 | —8.49024 — 2.979451
1.00000

0.877439 — 0.7448621

—0.930832 4 0.9181891 6.31400 4 2.828127 | —8.49024 — 2.979451
1.00000

—0.754878
1.75488 + 2.481771 2.17641 —15.0200
1.00000

—0.754878
= 1.75488 — 2.481771 2.17641 —15.0200

b
U
a
b
]
a
b
U
a
b
U
a
b= 1.00000

13



L. 1 =(b+1, a+u+1, ud+u?>—1)

(i) Arc colorings

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u? + 2u — 16
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,6 (u—1)3
€3,C4,C7 ud
Cs
] (u+1)°
6 ud 4 u? -1
3 249 1
C9, C12 u” +u” + 2u+
C10 wWeul4+2u—1
c11 wou?+1

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,Cs5 (y_l)
€3,C4,C7 v
Cs
€6, C11 vyt 2y -1
3 2
€9, €10, C12 Yy +3y" +2y—1

16



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u = —0.877439 + 0.7448621

a = —0.122561 — 0.7448621
b 1.00000

1.37919 + 2.828121

—16.8946 — 3.73881

u = —0.877439 — 0.7448621
a = —0.122561 + 0.7448621

1.37919 — 2.828121

—16.8946 + 3.73881
b = —1.00000
u = 0.754878
a = —1.75488 —2.75839 —12.2110
b = —1.00000

17



IV. u-Polynomials

Crossings u-Polynomials at each crossing
c1 (u— 1)) (u*? + 50u* + - — 190u + 1)
€2 (u—1)*)(u+ )% +du* + - +12u — 1)

C3,C4,Cg wd(u? + 2% (u*? +ut + -+ 16u + 8)

Cs (u— 1% (u+1)*W*? +du* + - +12u — 1)
6 (u® —u® + 1)) (u? +u® = 1)(u? = 2u* + - + 3u —3)
cr WBu? +2)3 (w2 — w1 4 64u + 8)
C9 (u® = u? +2u — 1)) (u® +u? + 2u+ 1) (u? + 2u*' + -+ 4 15u — 3)
c10 (u® = u? +2u — 1)) (u*? + 160 + - + 147u + 9)
c11 (u® —u? 4+ 1) (u® +u? —1)*(u*? = 2u* + -+ 3u —3)
c12 (u +u? + 2u+ 1)) (u*? + 16u™ + --- + 147u + 9)

18



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ ((y — D) (y* — 106y + - - + 9510y + 1)
Ca, Cs ((y — D)) (y*? — 50y* + - + 190y + 1)
C3,C4,C38 vy 4+ 2)0(y*? + 35y + - + 128y + 64)
C6, C11 (P —v*+2y — D> (y*?2 —16y* 4+ - — 147y 4+ 9)
cr y3(y +2)5(y*? — 49y + - - - + 1536y + 64)
“ ((v° +3y* +2y = 1)°)(y* — 48y™ + .- — 3y +9)
€10, C12 ((y® + 3% 4+ 2y — 1)3)(y*? + 24y + ... — 2367y + 81)
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